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THEuTae e e de
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36850 - 3R 4T T T3 & SR AHINT T3l e &l STIY
UH

3R qATHh AT TS hd I<h THTS @ol eh & STY, df J oRIT AT A1 3Q? T HH daTth URT AT F11gq, AT THIS
el T1feu ok fo qarsh e anfgu?

farsqa s

3R JATH T TS oh SR THATS Gl gl Y, It 31T TUAT JaTth 86 ehe &3 3R SHT & 1 THTST 31T ehedt| fohe
STEl 9 HTUA JdTh BT AT, I81 & I YT 1| 3TUeh! daTh SIg0- T I Tekehs chl GlgXH hl STewd el g o
3O THTST 37T e o folg B fear uTl

NG Fe 19T AgHGeeTE = hegl

“gf IS Af<h fordl) goTg @ darth ol J1fed R &, I foh fohelt & garth & i Teem o, R FHTet @St 81 78,
dt gg FHTS U 3R R a1 SRR It ST 9 (FaTth) & T (STl & 39 BIST A7) | I §oR-T-31de R
ATy ST I SR g1 8| dfceh g8 U SHIE § X hA 3R JqTh QT 6Tl | 39 fAuid e fagmit A et @
foh 98 EIR-U-31 AT T Y& HAT | Afhd gt fentor Ig & foh I8 THT A <l MTa=Tehdl el g, ST foh fagHt &
U g A gl 81 341 UhR Il hig ST 11 SI1Y 3R 98 ITUR AHIST U aTl, IT hig IY Aehehs dTd e o,

g1 gl WSS 8, a1 3T axg i 3= il I qolg T Toh ST, At I STIAT daTth YT hll 3R SH SUUR his
&Sl el 81" IG0T GHI g3l

“FST3T thTaT ST-SRg 34 151" (17/216).

AT ARG Fe ATl AgHgeettg = g ot gl

“IMR AHTS & 8l SI1Y 3R I8 darh 1 92 A g1, dl a8 @l & 91 TATS U, iR a8 311 Jarths a1 93 dal 9 g3
R STgl ag TehT ATI"

“ThdTdT 3EATH=IE” (2/250)1

T ARG T IGHA AgHgeeg A hal
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“ 3R THTS oh [oTT STHTSIT Wl 8l ST 3R TEH! qaTh e IgT 81, ITe dg ST &l ddTth &I AT §osf <hl ddTth gt aT
WSk qaTh I, dt I8 YT JaTh BISch? THTST U, fthe aTu¥ dieehs daTth ORT ohedTl 3R 39 fi T & T8l
AT, Ffech I T T IATh G HAT STl 98 Uget Tgdl AT| JUT I I Fahy ol fhe T ST chl TasTehdl
T8l 8, Riifch IT a1 daTh Uget foha o1, ag Toh Hal SITUR WR 3R RS AT o S9R fohar mar o1 g9feig
g fordft :RE AT & 3T St 18T Bt HehalTl”

“ThdTdl 3RehIIA-3&A™ (I8 : 539).
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